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#include <stdio.h>
#include <stdlib.h>

int main()

{

int days, years,

weeks;

printf ("Enter days: ");
scanf ("%d", &days);

years = (days
weeks = (days
days = days -

printf ("YEARS:
printf ("WEEKS:
printf ("DAYS:

return 0O;

/3
% 3
(

((years * 365)

65) ;
65) / 7;

%d\n", years);
%d\n", weeks);

5d",

days) ;

+

(weeks * 7)) ;
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returned @ (Ox8) execution time : 11.205 s
Key to continue.




g¢include <stdio.h>
#include <stdlib.h>

int main()
{

float x1, vyl1, X2, y2, gdistance:
printf ("Input 4 B4t 11
scanf ("%f", xl);
printf ("Input yi: ");
scanf ("%f", svyl):;
printf("Input x2: "):
scanf ("%f", &x2):
printf("Input y3: ").: I
scanf ("§L", sy2);
gdistance = ((x2-x1)*(X2-x1))+((y2-yl)*(y2-y1)):;

. printf("Distance between the said points: %.40",
SEpeinet (AR,
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/1: 48
x2: 120
tals)

1stance between the said points: 58.0000

Cess returned © (Ox0)
ress any key to continue.
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execution time : 34.383 s
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Rt X, YV, Z, P,oAg
printf ("\nInput the first number: ");
scanf ("%f", &x):;
printf ("\nInput the second number: ");
scanf ("$f", &ay):
printf("\nInput the third number: ");
scanf ("%f", &z);

if(x < (y+z) && y < (x+z) && z < (y+x))
{ :
P = xt+ytz;
printf("\nPerimeter = %.Jf\n", P);

}

else

{ .
printf("Not possible to create a triangle..!"):

}




[nput the ftirst number: 4

Tnput the second number: 5
[nput the third number: 6
Perimeter = 15.0

Process returned 0 (©x@)
Press any key to continue.

execution time

5.912 s



#include <stdio.h>
#include <stdlib.h>

int main()
[

int age:

int cnt_baby=0, cnt_school=
int count=0;

I, cnt-adulg=);

while (count«20) I

printf("Ent age of person [&%d]: ", count+l):
scanf"&d", )

et s W T [

gt et i Pt

15 ifjager=0 z& agec={
1E cnt_baby++;
17 else if{age>=t ¢i ag
cnt_school++;
else
cnt_adult++;
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Enter age of person
Enter age of person
of person
of person
of person
of person
of person
of person
of person
person

[1}: 3
[2): 5
[3]: &
[4]: 46
[5]: 12
[6]: 18
[7]: 19
(8]: 20
[9]: 39
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int random genBos=0, count=0J0, mm;
ingk stima;

long ltime;

ltima tima (HOLL]
stima (onsigned] ltimes:;
srandistima) y

random genMo=rand|] %100

a numbar from (0 to 100): ")

printf [ "\n\nGuess
scanf ("%d", inum] §

Af |random gerMo==mm| |
printfi*Congratulations, you hawve guassed a correct number.™)
braak;
elsa if (random genMo<num] |
pri "Genarated number is lass than entered number, try your luck again...™);

elsa if(random genMornum] |
printfi"Genarataed numbar

5 greater than entered number, try your luck
again...

Af [count==7] {

(*ym\o#i Maximum limit of ghthegpkt finished, EAD LUCK !!!1hvn®);




ss a number from (@ to 100): 4 uck a
'.-H.i-.;-.pﬂi;,; ”:u;ber is greater than entered number, try your 1 E

Guess a number from (© to 100): 70
senerated number is less than entered number, try your luck again

wess a number from (@ to 100): 45
enerated number is greater than entered number, try your luck ag

wess a number from (@ to 180): 59
gnerated number is greater than entered number, try your luck age

-ongratulations, you have guessed a correct
rocess returned @ (@x)

 any key to continue. P 36.058 s
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